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930407 | 504249 | 043102 ggﬁgi@%ﬁ@ 112,500
030407 | s04247 | ou310p |EHEEUAREE 37,500
930407 | 504220 | ou310p |EHETRASE 37,500
930419 | 504847 | 043102 %ﬁgké@ﬁ@ﬁ 100,000
930423 | 505185 | 43100 7Y RIS 2,973,700
030407 | 504176 | 43107 | T EEERERIEET 270,000
930401 | 503569 | o310 | RIS 155,000
930401 | 503573 | ou310p |FELHFHORE 60,000
930401 | 503566 | 043100 |PHLHHERARET 125,000
930402 | 503774 | 043102 ggzgﬁﬁﬁgw 90,000
930406 | 504020 | 043107 |PPRHERIEEGE 115,000
930419 | 504847 | 043102 zgg BELEN 100,000
030402 | 503783 | o310 7Y IS 90,000
930402 | 503786 | 43100 | T IS 100,000
930402 | 503787 | o310 | EAREKIEEE 85,000
030402 | 503776 | O43100 [PLEMFHEORSE 410,000
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930402 | 503773 | 043102 gg;ﬁgggg& 70,000
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930407 | 504173 | 043102 zg;;;gggégggﬁé%‘t‘ 40,000
930407 | 504177 | 043100 |TTERECHESERE 75,000




